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Bead bar subtraction
Sheet 1

Cross out beads to match the subtraction. 
Complete the number sentence.

_Day3

8 - 2 = 6

1.					     2.		                                   3.				           4.

5.						              6.					     	        7.	

 6    -     2     =    5    -     3     =    4    -     2     =    7    -     3     =   

10   -     3     =    9    -     2     =   11   -     2     =   
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Bead bar subtraction
Sheet 2

Draw and cross out beads to match the subtraction. 
Complete the number sentence.

_Day3

14 - 2 =

4.						          5.					      	        6.	

10   -     3     =   10   -     2     =   12   -     3     =   

1.						          2.					      	        3.	

12   -     2     =   13   -     3     =   11   -     2     =   

Challenge

Which gives a bigger answer? 13 - 4 or 14 - 3. Guess first then work these out. What about 15 - 4 and 14 - 5?  


